[image: ]Fläche und Umfang des allgemeinen Trapezes II



Berechne die fehlenden Größen bzw. ordne zu.
	[image: ]
a = 10,1 cm    b = 9,6 cm
c = 6 cm       d = 9,6 cm
h = 9,4 cm
	A = (10,1 + 6) : 2 · 9,4 cm²

A = 75,67 cm²

u = 10,1 cm + 9,6 cm 
    + 6 cm + 9,6 cm

u = 35,3 cm

	
 
a = 18,2 cm    b = 7,2 cm
c = 8,4 cm     d = 8,1 cm
h = 5,8 cm
	A = (18,2 + 8,4):2 · 5,8 cm²

A = 77,14 cm²

u = 18,2 cm + 7,2 cm 
    + 8,4 cm + 8,1 cm

u = 41,9 cm

	

a = 16,8 cm    b = 10,5 cm
c = 9 cm       d = 9,8 cm
A = 119,97 cm²
	119,97 = (16,8 + 9) : 2 · h

h = 9,3 cm

u = 16,8 cm + 10,5 cm 
    + 9 cm + 9,8 cm

u = 46,1 cm

	

a = 8,8 cm     b = 11 cm
c = 4,1 cm     d = 11,4 cm
A = 70,305 cm²
	71,305 = (8,8 + 4,1) : 2 · h

h = 10,9 cm

u = 8,8 cm + 11 cm 
    + 4,1 cm + 11,4 cm

[bookmark: _GoBack]u = 35,3 cm
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